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PART – A 

GENERAL ENGLISH 

Fill in appropriate prepositions 

1. He is being accused __________theft 

a) of (b) for 

(c) About (d) None of these 

2. My brother will never agree _______me on this issue 

(a) In (b) With 

(c) On (d) None of these  

One word substitution 

3. The speech delivered without previous preparation 

a) Maiden speech (b) Novice 

c) Misanthrope (d) Epicurean 

4. A lady who remains unmarried 

a) Miss (b) Bachelor 

(c) Spinster (d) Stoic 

PART – B 

GENERAL KNOWLEDGE 

5. “War and Peace” was written by 

(a) Leo Tolstoy (b) James Joyee 

(c) T.S.Eliot (d) None of these 

6. First president of the country after its freedom 

(a) Dr. Zakir Hussain (b) Dr. Rajindra Seth 

(c) Dr. Rajendra Prasad (d) Dr. Venkata Giri 

7. O2 released in the process of photosynthesis comes from 

(a) CO2 (b) Sugar 

(c) Pyruvate (d) Water 



8. The headquarters of the United Nations is at 

(a) Geneva (b) Paris 

(c) New York (d) None of these 

9. Amino acids are the building blocks of 

(a) Lipids (b) Starch 

(C) Glucose (d) Proteins 

PART – C 

GENERAL INTELLIGENCE 

Arrange the given words in alphabetical order. 

10. (a) Laurel (b) Leisure 

(c) Lapse (d) Language 

(e) Leave 

11. (a) Proclaim (b) Proceed 

(c) Probate (d) Problem 

(e) Probe 

12. A is 3 years older to B and 3 years younger to C, while Band D are twins. How many years 

older is C to D? 

(a) 5 years (b) 6 years 

(b) 4 years (d) None of these 

13. Find the number which when added to itself 13 times, gives 112 

(a) 8 (b) 6 

(c) 7 (d) 5 

14. If 100 dogs can kill 100 cats in 100 days, then 4 dogs would kill4 cats in how many days? 

(a) 50 days (b) 100 days 

(c) 60 days (d) None of these 

PART – D 

TEACHING APPTITUDE 

15 A teacher should be 

(a) A guide and friend to students 

(b) A figure of respect 

(c) A dominating mentor 

(d) None of these 

16. Teacher who shows frequent tempers lack 

(a) Social manners (b) Intelligence 

(c) Emotional control (d) None of these 



17. Teachers do not follow what they learn in training because 

(a) They forget it with span of time (b) It is too theoretical 

(c) It lacks employer’s responsibility(d) Non of these 

18 A teacher’s first duty is towards 

(a) Students (b) Principal 

(b) Headmaster (d) Subject area 

19. Verbal guidance is least effect in the learning of 

(a) Attitudes (b) Skill 

(c) Stories (d) Observation 

20. Second hand of the school time table is 

(a) Teacher’s time table (b) Combined time table 

(c) Home work time table (d) None of these 

PART – E 

NUMERICAL ABILITY 

21. Water melon contains 80% of water and pudding containe 25% of water. How much pudding 

can be obtained from 100 kg of water melon? 

(a) 25 kg (b) 6 kg 

(c) 24 kg (d) 5 kg 

22. Father and son can do a job in 8 days. Son can finish it in 24 days. In how many days father 

will finish the same work alone 

(a) 12 (b) 14 

(c) 16 (d) 10  

23. A carpet seller earns 14 % by selling a carpet. If sale price of carpet is 3420 find the cost 

price of the carpet 

(a) 2800 (b) 3200 

(c) 3680 (d) 3420 

24 Two year ago the population of a city was 20000.It had increased by 5% and 8% in last two 

years. Find the present population of town 

(a) 21840 (b) 22680 

(c) 23480 (d) 24540 

25 The circumference of a circle is 22 meters. Find the area of the circle 

(a) 36.4 (b) 42.5 

(b) 38.5 (d) 44 

Answers: 1-a, 2-b, 3-a, 4-c, 5-a, 6-c, 7-d, 8-a, 9-d, 10-b, 11-a, 12-b, 13-a, 14-b 15-a, 

16-c, 17-b, 18-a, 19-b, 20-c, 21-c, 22-a, 23-d, 24-b, 25-c. 

 


